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Take :r=7 wherever necessary.
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SECTION-A

Question numbers 1 to 1-2 carry 1 mark each.
o §%9 1 9 791 12 (&7 Y099 TTF 1

o8 TH7 1 (/T 12 993 dfofoq T 1

The smallest number by which 27 should be multiplied so
as to get a rational number is : 1

iHRewE 7% OB TE, V27 T 279 S <51 AR =R (oAl 9,
(iR B! 24 ¢ |

FbiErs (F6 AWM WFaR V27 & ~fac T 9200 ARGE AR AT
IR, OF WA 24 |

(a) 27
(b) 343

() J3

(@ 3

17-GM (EN/AS/BN) (2]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

2. ‘The number of decimal places after which the decimal
_‘ 43 . .
expansion of the rational number 4 x50 will terminate is:
1
43 '
27153 ARG FAER WIS ered wifts Zme sifenie @ z@e
X
A TS
43 _ _
oS *fata M2oa Wit epimr w2 s zem
ACERIN G IR
fa) 3
(b) 4
() 1
(d) S
3. 1If one zero of the polynomial p(x)=ax?-3(a-1)x-1 is I,
then value of a is : | 1
p(x)=ax® -3(a-1)x -1 qzom a5 @61 <71 1 T, ad T T :
p(x)=ax® -3(a-1)x -1 Fz=m afla 9= <=1 1 T, ad 7 A :
@ 1 |
() -1
(¢ 2
(d) -2
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o

Which one of the following is not a quadratic equation? 1
O (1 e AT Tz e
ftsa @Rl fare AR T2

(@) (x-2°+1=2x-3
(b) x(x+1)+8=(x+2)(x-2)

(c) - x(2x+3)=x>+1

3

d) (x+2) =x’-4

BD

In the right triangle ABC, ZA=90" and AD 1 BC. Then Yol

1

BD

it fgs ABC 3 £LA=90° W% AD L BC | (Sfed ol

| BD
T e ABC 9 £A=90" @33 AD L BC | SIA —— =

DC
@ (38

AB

(b) Yol

(ABY?
(c) [H)-J

AB
@ ap
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6. -Distance of the point P(Q, 3) from X-axis is :

X-er o1 P(2, 3) RRgBR @ 24 -
X-SFF (A P (2, 3) faqoa v 25 ¢
(@ 2
(b) 5
(c) 1
(d) 3

7.  Value of sin230° —cos”30° is
sin?30° —cos?30° 9 W 79 :

sin®30° - cos230° A WA T3 :

2
(a) 3
J3
(b) =
3
(c) 5
1
(@ -3
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8. The angle'of depression of an 'objec't from the top of a tower
of height 75m is 30°. Then the distance of the object from the

foot of the tower is 1

75 3 @ T8 GB[@ CoQT 2/ IF GOE 2T (Fd 30° | (ofET FBOR
SHAE 74l TELo g

75 . T <Fh TEa T2 (ALE AT 9F0 ILA SRS (Il 30° | OIE
w3 Amiaw (A %A =¥E T3 ¢

(a) 25V3 m
(b} 503 m

(© 7543 m
(d) 150m

The area of the circle that can be inscribed in a square of side
6conis @ 1

6 (5 /7, AR 351 GO ATETRE =] e Wl o) JEBR A 29

6 (/7. IERMFE G WTFran AR = T @i UfEe wudred
I 2

O

(@) 36zcm’
(b) 18 zcm®
2 \

(c) 12zcm

(d) 9xcm?
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10." The volume and surface area of a sphere are equal. Diameter

of the sphere is : 1
<Ol (SRR TS Gl ‘j‘é‘c“fﬁ M 20, (SIERGR A =
&b (oA wwen Gy ARG AR LA (oIeba A TR

(a) 3 units (9FF)
(b) 6 units (9FF)
(c) 2 units (4FF)

(d) 4 units (9FF)

11. Mcan or avcrage of 1, 2, 3, 4, .... nis : 1
1,2, 3,4, .... n a4 A1 TT T
1, 2, 3, 4, .... n 294 @ 9T ZAl
n+1
@ —
. n-1
) =
n
@ 3
d) S+l
(@ 3
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12. Which one of the following is the probability of an cvent ?
1

CHE CEFCG! Q61 Iha] ABIRSl T At ?

fime @t ot Bar ARkl e |y

@ =
B 15
(c) 1-001
@ >

SECTION-B

13. Using Euclid’s division algorithm find the HCF of 210 and 35.
| 2

e Rerem FwmRE 984 F@ 210 W% 55 1 sLALTE. Tfaea|

el e o[ 979d a@ 210 R 55 4 9718 fda at |
B17-GM (EN/AS/BN) [8].
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14. "Find the number of terms of the following Arithmetic
progressions 2

weie Tl AArER 2Asiferbia 5 oma Ao T
s crewt wemEz asifsba @b o #xy (et

15. Find the ratio in which the y-axis divides the line segment
joining the points (7,3) and (-4,5). Also [ind the coordinates
of the point of intersection. 2

(73)*12{(-4:3) e Al @9, J@f—rﬁswﬁr@ S5l &ME?
(1:' Ua"\, SW [

(7,3) @32 (~4,5) B AC@lf @ | Y- & SIS wm =0 |
Emioae ZHsE fda o=

. _ : 0
16. If Stand =4, find thec value of SSI_ng 3cos . 2
Ssin@d+2cosl

Ssin@—-3cos
Ssin0+2cosl

a7 Stand = 4, (SERE 3 Wi Tfed

0-3 0
W Stand =4 o9, Orors S Sin cos g -Jﬂ fefa =
Ssint+2cosl
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17.

18.

19.

Prove that - ‘j1+sin0+ ,1'—sin0 — 2geed
rove that - 1-sing \1+siné
S \[1+3f710+ 1_51_?19=2&;ec'0
l1-sind 1+sin@
1+sin@ |[1-sin@ o
o9l A (A : / , +J - =2secl
el Vi-sing 1+siné
sin30° + tan 45"‘— cosec 60’
Evaluate : . - S
sec30 +cos60 +cotdd
| sin30° + tan 45’ - cosec 60’
S [T o4t - " .
sec30 +cos60 +cotdd
S a— sin30° + tan45° - cosec 60’
T see30” +cosb0° +cot 45°
A die is thrown once. Find the Ap-robability of getting

() a prime number

(i) a number lying between 2 and 6.

ab) el @R TR Yfdea e

) @b GhfE FgAm

(i) 2 W% 6 I G G A

(AR FEifaet fdy =

B17-GM (EN/AS/BN) [ 10]
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20.

G et war @ e

() - <=0 ChERe Al

(i) 2 R 6 97 WLF GFH AL
AT Sgifeer fadfa =@

SECTION-C

Find the zeros of the following quadratic polynomial and verify
the relationship between the zeros and the coefficients. 3

weiq fZare e[ AR TEed wiE \qg *TAR S ATEEE TS
TR Ao @4 |

Fitva feare Teefiia <matsl fefa s @3z 9% et e el Ty
i eifeom wrar

6x° -3 -Tx

21. Draw the graphs of the cquations Sx-y=5 and 3x-y=3
and. solve Lhe equation with the help of graphs. 3
FMEE Sx -y =5 % 3x —y = 3 2 (774 i S @2 LS AN
o1 HAM ]S |
FAEA] Sx -y =5 @R 3x - y = 3 7 (713 Wi 938 (51 AR TR
ufba L@ a3 |
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22. Find the roots of the following quadratic equation : - 3

23.

©od fadre FTRREGR 1 Mg F4 ¢
e faare sifesaaiba 1 fefa et ©

2x?-Tx+3=0

The sum of the reciprocals of Kuwali’s age (in years) 3 years

ago and S years {rom now is 3 Find her present age. 3

e =ite et 9 (o) efoa wie afear 771 5 9= frize
. .1 -
mz{wmmﬂwglﬁﬁﬁa@mwwﬁew

o1 78 ofd TIER AR (IQA) IAFF 9. Q4 (AF 5 T AR OF

1 ,
TR AR AT | ©ig I 397 [T @t

Or/?f??ﬂ‘/ﬁ'wl

Is it-possible to design a rectangular park of perimeter 120m

and area 900m?? If 'so, find its length and breadth.

Gl 94 QRCIR T AR T - AR 1204 W€ e
900 /42 ¢ afr #Ea ; TR WY IF A7 Tfere|

GZF Q6 TEedI T Aeal & 7w, @ AT 1204 93z T
900 2 7 I 7Ea 7@, TR «foa ) G @7 el e |
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24. The sum of first 20 terms of an AP is 400 and that of 40 terms
is 1600. Find the sum of first 10 terms and that of n terms.

3
5! AR A%f&q 2 2051 AW (F1TTE 400 WF 897 4051 wE (@IoT
1600 | A5 1061 O 223 n Bl 29 caisias SEedl |

T A w@ifen e 208 A @eeE 400 97 @2 40% o
(5@ 1600 1 2494 1015 @3z a49w nfo *nwa casies fida @@ |

- Or / Az / sdat
=
=] , a(b+c) b(c+a)
= If a, b, ¢ are in A.P, then show that ’ and
= be - ca
< cla+b) .
< —— are also in A.P.
N ab
o]
o]
¥ alb+c) blc+a
=3 a7 a, b, c G 29T Wy CoTE Gryeat @, (bc ), (Ca )
<
jak]
2. cla+b) € WIed gsifos s
o ab
o)
=]

a(b-c) b(c+a)

WM a, b, ¢ FEL Aifors AMS, TFE F@HE @ ™ —
cla+b .
qag —Lab——) G WA 2A5iFeore Tz

25. The perpendicular from A on the side BCof a AABC intersects

BC at D such that BD=3CD. Prove that 2482 - 24C2 + BC?
. 3

B17-GM (EN/AS/BN) 13 Contd.
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26.

[ )
~J

AABC?:AMETBCNWWW T ch@spﬁ—gﬁmw
BD =3CD | ol %1 @ 2AB? = 2AC? + BC?

AABC 3 A7 (A& BC 3 T wifss 750@ BC LS D s 9vTens
(% 7@ WS BD = 3CD T == @l @ 2AB% = 24C% + BC?

Find the area of the triangle formed by joining the mid-points |

of the sides of the triangle whose vertices are (4,2), (-2,0)

‘and (2, 6). http://www.assamboard.com 3

(4.2), (-2,0) S (2, 6) AR @BIR e fgadn TEARR
T TP AL TR A <1 TATHHR FE e |
(4,2), (-2,0) @& (2, 6) AFmeR am sive faguba el
am\sﬁa AaisER) aEr sfive faewna FifF fFda w=n

. A chord of a circle of radius 15cm subtends an angle of 60°

at the centre. Find the areas of the corresponding minor and

major segments of the circle. [ use #=3-14 and V3 = 1-73]
: 3

15 (&ff, ATEE I8 Bk T T EHA- (S 60° (P TAAT FR
I TE (Tl Jodea S ffa A1 [ 7 =3-14 A= V3 =173 TR
=t |

15 (1.5 pida «afs Jrea @l &t Jeiba (@FWrs 60° (1 SR TR |
7ol 3R (Tl J@ATea Ffe el @t 1| 7 = 3-14 @3 V3 =173 I
A

B17-GM (EN/AS/BN) [14]
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SECTION-D

28. Solve the following pair of equations by reducing them to a
pair of linear equations. - 4

©EH ATRRATAR TfRF STTwelte Folres SR T 3|
Fita Ftemaerass Tl et woles a0 S < |,

S 1 9 6 3

+ = — =
x-1 y-2 ' x-1 y-2

1

Or/ﬁ'ﬁ?ﬁ‘/'ﬁ'w

2 women and 5 men can together finish a work in 4 days,
while 3 women and 6 men can finish it in 3 days. Find the

time taken by 1 woman alone to finish the work, and also that
taken by 1 man alone.

wod pieoquuesse mmm//:dny

2 Tl TN I 5 T SRRE 51 B 4 S (o R AT, T 7R
sﬁﬁimﬁwmsmamaﬁamﬁamﬁﬂmw
fem s (o7 @t I B[R AR OIS GG ST W BN e
FAD (<17 FRQ M1t Thenear |

2@%@325@3@3&6?&%4me%, @I G123
i 3 T wfEw gag 6 & 7F 3 fea (<9 TS HirE | T 1Rk
T S e GRS o3 FA0 Al 432 T ofgne 97 T B o
I (T FA iirz [efy <) | '
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30. From the position of a person standing on the bank of a river

29. Prove that, the ratio of the areas of two similar triangles s,

. equal to the square of the ratio of their corresponding sides.
4

19 = (T, W01 A faeer e S faew wor wbf Sl area a9ld
T AATed AT | ,

et Al (3, 76 A fogren wfag o fTga qita gt oime e
Wofa TACST AT | |

Or / 733 / Q4

Altitudes AD and CE of 4ABC interse'ct'each other at the
point P. Show that '

(i) AAEP ~ ACDP (il AABD ~ ACBE
(i) AAEP ~ AADB (iv)] APDC ~ ABEC

ABC f&geR AD W% CE ¥afe qeim »/2@ P e (% 9031 e

(3 .
{!} dALEP ~ ACDP (I.I.) AABD ~ ACBE |
(i) AAEP ~ AADB (iv) APDC ~ ABEC

ABC f&gtsa AD 9’2 CE 5% b »=@=a P e (@ <@ | @mde
(i) AAEP ~ ACDP (i) AABD ~ ACBE
(i) AAEP ~ AADB . (iv) APDC ~ ABEC

the angle of clevation of a tree on the opposite bank is 60°.
When the person retreates 20m from the bank, the angle o
elevation bcecomes 30°. Find the height of the tree and th
breadth of the river. 4

B17-GM (EN/AS/BN) [16]
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31.

317-GM (EN/AS/BN) [17]

' T TCZ R G AR A 7 A6 G o 7 SR (@ SR AR

R TR To (T 60° | THE G A1 A=A 471 2057 ez s
1% ST &R (MBI 30° T | 9% TIeTq To5o! Wi RN o7 Bfred
G A G TR #A0S W (A g (a7 | @, a9
9l it 9 SR Tafe e 60° | AR T 2 (TE 20/
Fifeca oo s @eref® 30° =11 sirefa Sover @3k TRIDa 22 el

Prove that the lengths of tangents drawn [rom an externa
point to a circle are equal. ¢

e N (@ G0l AR/ A gErE BN e o S |
A A (T G0 AR (A T A Sl ~onfesfE e )

Or / 27 / |t

A circle is inscribed in a 4ABC having sides 8cm, 10cm
12cm as shown in the following figure. Find AD, BE and CF

<61 & foIr® (eal <Y A ABC A ATFEHRE ] R Qe | A AR

@R 8B, 10ENIF 123[A =, (SR AD, BE 9% CF (514
g Sall

ﬁm‘ammﬁw AABC 3 3R TG i <01 A | I Arewaiba s
8 Gifil, 1015 93 12 (7R =, OIF# AD, BE %8 CF @ 5o Fiefa <0zl |

Contd.
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32,

33.

Construct an isosceles triangle whose base is 8 cm and altitude
4ecm and then another triangle whose sides are 13 times the

corresponding sides of the isosceles triangle. Mention the steps
of construction. | 4
8 (& fi. sf % 4 czfi Tafe /4B «bl FfFar fage Sike wfa wm o1
i?]'gsr G F41 A UfSIDl A% TG AR faTThr SRR GIEG 1%@5;
T | TEE BIATAR SEd el |

8 Gif. vft wat 4crfu Twel ke b srimE fege wa I3 9
935 faes diw am afel 1 ve smiwanr fagalts wmy A 15 o4 2|
SR diejsfe ST 9 |

SECTION-E

A farmer connects a pipe of internal diameter 20cm from a
canal into a cylindrical tank in his ficld, which is 10m in
diameter and 2m deep. If water flows through the pipe at the

rate of 3km/h, in how much time will the tank be filled.
5

OTH (MA@ (96T, AT 4F 107 Y GRE 275 TEHOR GO (@FE
Sfea (SRITT F9 20 (%7, Fowa-d Guf #IfZ7f bl 7ER Fi57S FRCAwT
o st | 7 3 A/ 95 TR AIiAta 2 (@ T (eTE (labi! ofe
TA fFam e wifeE e

3T FEE Ol Thwe U 107 AF @At 2 eikem @3 (@9
e (FRISH A 20016 SeSl azm 9 4% <3t 7R 70
el e o |l 3 AL/ 90 W Ai%efbre o A SrEA (G
©fe TS FT T FASIA? '
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»
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Or / #3< / 52t

From a solid cylinder whose height is 2-4cm and diameter
1-4cm, a conical cavity of the same height and same diameter
is ho]lowecl out. Find Lhe total surface area of the remaining
solid to the nearest em?

2-4(ZfA THe iF 1-4&2:‘51 JHARBD 9Bl (SIB @[ o[ G G
THOE % I3 [ =T SIFRA (A 4o Ceal 25 | 9B (iTRInR
Il 797 fia waare fda w1

2-4(Af3 Tl 32 1-4 7.7 IFRES 9o (oIS @EEira (A 93l
IR THO[ G2 93 AICT *% Gpfed (A g @@ A w ) RS
(ol a7l 7977, fa wasa fdfa @

Draw an ogive and the cumulative frequency polygon for the
following frequency distribution by less than method.

T4 AR [T 771 Oreld T3 2a<d OBl o' ers OiE 7T IRl
ITgG G |

A4 ARKATS! TG (AT O (AT I ADET GF0 C@ize Gae
FET] RIS TTGE G |

0-10|10-20
7 10

20-30 | 30-40 [ 40-50 [50-60
23 | 51 6 3 °

http://www.assamboard.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
o Qe aad Hor 3R 10 wad o,
Paytm or Google Pay &

[19]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



